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&5 X 4 .(Er.na; Tmh(z)mﬁ%ﬁ jn(g')\aﬁé X 4 Tmﬁéﬁ;g;k? .(Er.n? jn(g')\acf)é & 4 ,(Er,na; J:mh(z)@tt.a jn(g')\acf)é X 4 J:lﬁﬁfJ(z)U)ﬂ.'nE] .(Er.n? jn(g')\acn-qu)é
; 100kN/M%#BZ 5| 1.00 | 0.00 ~ 3887| 163.16 |3mEBZB| 000 ~ 228|4.06 20.54 | 100kN/MZEHBZ B | 1.00 | 1063 ~ 11594 163.16 |3mERBAB| 2500 ~ 11594| 4.06 20.54
Fhs 1.00 | 387 ~ 1166 100.00 | TS | 228 ~ 1166 3.00 156.16 Fhs 1.00 | 5.00 ~ 1053 100.00 | TN | 5.00 ~ 2500 | 3.00 156.16
2 100kN/M%Z#BZ 5| 1.00 | 0.00 ~ 4.05| 166.27 |3mEBZD| 000 ~ 243|4.19 21.15 | 100kN/MZE#BZ 5 | 1.00 | 1064 ~ 92.76 | 166.27 |3m%ERBAB| 2500 ~ 9276 | 4.19 21.15
Fhs 1.00 | 405 ~ 11.83| 100.00 | TS | 243 ~ 1183 3.00 156.16 Fhs 1.00 | 6,00 ~ 10.64 100.00 | =hs | 5,00 ~ 2500 3.00 156.16
3 100kN/M%#BZ 5| 1.00 | 0.00 ~ 3887| 163.02 |3mEBZB| 000 ~ 230|4.08 20.63 | 100kN/MZEHBZ 5 | 1.00 | 1064 ~ 6038 | 163.02 |3m%ERBAS| 2500 ~ 60.38| 4.08 20.63
Fhs 1.00 | 387 ~ 11.65| 100.00 | TS | 280 ~ 1165 3.00 156.16 Fhs 1.00 | 6,00 ~ 10.54 100.00 | =hs | 5,00 ~ 2500 3.00 156.16
4 100kN/mM#%#BZ5| 1.00 | 000 ~ 254 139.85 |3mZEBzB| — ~ — — — | 100kN/mi%# 25 | 1.00 | 1089 ~ 2595| 139.85 |3m&EBZ5 -~ — — —
Fhst 1.00 | 254 ~ 1032 100.00 | ThLS | 000 ~ 1032|288 14.65 Fhs 1.00|5.00 ~ 1089 100.00 | TN | 5.00 ~ 2595 2.88 14.65
5 100kN/m#%#BZ25| 1.00| 000 ~ 014 10210 |3mZEBzB| — ~ — — — | 100kN/mi%##BZ% | 1.00 | 1055 ~ 1091 102.10 |3mZiBZ5 -~ — — —
Fhs 100|014 ~ 793 100.00 | #nst | 000 ~ 793|217 10.99 Fhs 1.00|5.00 ~ 1053 100.00 | TN | 5,00 ~ 1091 2.17 10.99
¢ 100kN/MZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — —
zhLs 1.00 | 0.00 ~ 583 72.89 | #FhLS | 000 ~ 583 1.84 9.32 ZzhLs 1.00 | 5.00 ~ 6.70 7289 | EnS | 600 ~ 6.70 | 1.84 9.32
. 100kN/MZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/MZ# %% — - ~ — — |3mZE#BZ B - ~ — — —
zhLs 1.00 | 0.00 ~ 452 56.38 | LS | 000 ~ 452| 1.91 9.66 ZzhLs 1.00 | 5.00 ~ 5.00 56.38 | =hs | 5.00 ~ 56.00)| 1.91 9.66
100kN/M%#8 % % ~ ImEHEAD ~ 100kN/mZ#BZ % ~ ImEHBZS ~
ZhLlst ~ Zh s ~ ZhLlst ~ Zh s ~
100kN/MZ#8% % ~ ImEHEAD ~ 100kN/mZ#B 2% ~ ImEHBZS ~
ZhLlst ~ Zh s ~ ZhLlst ~ Zh s ~
100kN/MZ#8 % % ~ ImEHEAD ~ 100kN/mZ#BZ % ~ ImEHBZS ~
ZhLlst ~ Zh s ~ ZhLlst ~ Zh s ~
100kN/MZ#8 % % ~ ImEHEAD ~ 100kN/mZ#B 2% ~ ImEHBZS ~
ZhLlst ~ Zh s ~ ZhLlst ~ Zh s ~
100kN/MZ#8 % % ~ ImEHEAD ~ 100kN/mZ#B 2% ~ ImEHBZS ~
ZhLlst ~ Zh s ~ ZhLlst ~ Zh s ~
100kN/MZ#8 % % ~ ImEHEAD ~ 100kN/mZ#B 2% ~ ImEHBZS ~
ZhLlst ~ Zh s ~ ZhLlst ~ Zh s ~
100kN/MZ#8% % ~ ImEHEAD ~ 100kN/mZ#BZ % ~ ImEHBZS ~
ZhLlst ~ Zh s ~ ZhLlst ~ Zh s ~
100kN/M%#8 % % ~ ImEHEAD ~ 100kN/mZ#BZ % ~ ImEHBZS ~
ZhLlst ~ ZnLs ~ ZhLlst ~ ZNLS ~
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